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Subject : GE_Q01-Q10_PGTBT

Question ID:- 181

FLIMSY

The word which is similar in meaning to the one given above is :
(1) Thin

(2) Lasting

(3) Liable

(4) Likely
Options:-

=1, Option ID :- 721,
= 2, Option ID :- 722,
= 3, Option ID :- 723,

= 4, Option ID :- 724,
Answer Given:- 1, Option ID : -721

Question ID:- 182

THRIFTY

The word opposite in meaning to the one given above is :
(1) Provident

(2) Wasteful

(3) Penurious

(4) Stingy

Options:-

=1, Option ID :- 725,
= 2, Option ID :- 726,
= 3, Option ID :- 727,

= 4, Option ID :- 728,
Answer Given:- 2, Option ID : -726

Question ID:- 183

Identify the Part of Speech of the underlined word in the following sentence.

The miser hated spending money.

(1) Noun

(2) Verb

(3) Adjective
(4) Adverb
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Options:-

=1, Option ID :- 729,
= 2, Option ID :- 730,
= 3, Option ID :- 731,

= 4, Option ID :- 732,
Answer Given:- 2, Option ID : -730

Question ID:- 184

She ruined her wealth in gambling.

Choose the option in which VOICE in the above sentence has been changed into Passive Voice.
(1) Gambling has ruined her wealth

(2) Her wealth was ruined in gambling

(3) Gambling has been ruined by her wealth

(4) Her wealth has been ruined

Options:-

«1, Option ID :- 733,
« 2, Option ID :- 734,
= 3, Option ID :- 735,

= 4, Option ID :- 736,
Answer Given:- 2, Option ID : -734

Question ID:- 185

Sita said “Why don’t you help me now, Lata ?”
Choose the option in which the above sentence has been changed into Indirect Speech.
(1) Sita requested Lata why she did not help her.

(2) Sita asked Lata why she did not help her then.
(3) Sita asked Lata why she did not help her then ?
(4) Sita asked Lata why did not she help her then.

Options:-

=1, Option ID :- 737,
= 2, Option ID :- 738,
= 3, Option ID :- 739,

= 4, Option ID :- 740,
Answer Given:- 4, Option ID : -740

Question ID:- 186
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Rearrange the following words/phrases to form a meaningful and grammatically correct

sentence.
(A) retires from business
(B) with him

(Q) itwill go

(D) if his partner

(

E) hard

(1) (D)YB)ENA)C )
(2)  (OE)B)D)A
(3)  (A)B)(D)(C) (E)
(4 (BYA)O(D)(E)
Options:-

=1, Option ID :- 741,
= 2, Option ID :- 742,
= 3, Option ID :- 743,

= 4, Option ID :- 744,
Answer Given:- 2, Option ID : -742

GET IT ON
Google Play

Question ID:- 187

Identify the part of the following sentence that has an error in it.

Beware of that fellow - he will stick for nothing.
(a) (b) (c) (d)

a

b

c

d)

I

)
)
)
)

— — — —

(
(2
(3
(4
Options:-

=1, Option ID :- 745,
= 2, Option ID :- 746,
= 3, Option ID :- 747,

= 4, Option ID :- 748,
Answer Given:- 3, Option ID : -747

Question ID:- 188

Fill in the blank in the sentence given below by choosing the correct option out of the ones that

follow.

Latika was by a severe headache
(1) Kkeptout

(2) knocked in
(3) laid out
(4)

4) keptin

Options:-
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=1, Option ID :- 749,
= 2, Option ID :- 750,
= 3, Option ID :- 751,

= 4, Option ID :- 752,
Answer Given:- 2, Option ID : -750

Question ID:- 189

Fill in the blank in the sentence given below by choosing the correct option out of the ones that

follow.

It is quite warm. Let me with your coat
(1) help you out

(2) put you off

(3) help you off

(4) putyou up
Options:-

=1, Option ID :- 753,
« 2, Option ID :- 754,
= 3, Option ID :- 755,

= 4, Option ID :- 756,
Answer Given:- 3, Option ID : -755

Question ID:- 190

Fill in the blank in the sentence given below by choosing the correct option out of the ones that

follow.

He was when [ refused his request
(1) put off

(2) put away

(3) putup

(4) put out
Options:-

«1, Option ID :- 757,
= 2, Option ID :- 758,
= 3, Option ID :- 759,

= 4, Option ID :- 760,
Answer Given:- 1, Option ID : -757

Subject : GH_Q11-Q20_PGTBT

Question ID:- 191
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et fau Tu ey @t Ugeht SHuR stenfa wysl o waifier stem I S
T & G99 ¥ I 8F 9T Sie-91e oy df aga-4d ¢ | a9 ges € wmm R S g € 1 5 i
TR & T SU BT & IR T & v 7

T H 9 & F foe are el == #5 E §
(1) <=4

(2)

3) fa=em

(4) ferm

Options:-

=1, Option ID :- 761,
= 2, Option ID :- 762,
= 3, Option ID :- 763,

= 4, Option ID :- 764,
Answer Given:- 2, Option ID : -762

Question ID:- 192

et fau 7T YT Wt Ugeht SHUT 3Mmeni| UyHi o Waifier Stew I Sifee )
T % G I B e S-S @ f dga-d | i 7 vt € wwn e s e & 10
T & T SUS BT § SR T & v 7

yifert ol st T R 2
(1) =

(2) &H

(3)  Tehdl

(4) waw
Options:-

=1, Option ID :- 765,
= 2, Option ID :- 766,
= 3, Option ID :- 767,

= 4, Option ID :- 768,
Answer Given:- 2, Option ID : -766

Question ID:- 193
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et fau Tu ey @t Ugeht SHuR stenfa wysl o waifier stem I S
T & G99 ¥ I 8F 9T Sie-91e oy df aga-4d ¢ | a9 ges € wmm R S g € 1 5 i
T ¥ T SUEs g § iR 3 & v ¥

U] 1 9RO & :

(1) = 1 HaH

(2) w9 = A

(3) ¥ @I Wit

(4) W v
Options:-

=1, Option ID :- 769,
= 2, Option ID :- 770,
= 3, Option ID :- 771,

= 4, Option ID :- 772,
Answer Given:- 3, Option ID : -771

Question ID:- 194

et fau 7T YT Wt Ugeht SHUT 3Mmeni| UyHi o Waifier Stew I Sifee )
T % G I B e S-S @ f dga-d | i 7 vt € wwn e s e & 10
T ¥ T SUEs B © oK 3 & v ¥

‘T 3T E S ol vIse A8l ©

(1) 499
(2) EAW
(3) §™
(4) HfaHm
Options:-

=1, Option ID :- 773,
= 2, Option ID :- 774,
= 3, Option ID :- 775,

= 4, Option ID :- 776,
Answer Given:- 3, Option ID : -775

Question ID:- 195
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et fau Tw ey @t Ugeht SEuR stenfia wysl o waifier stem I S
T & G99 ¥ I 8F 91 Sie-91e oy df aga-4d ¢ | a1 ges € wmm R S g € 1 5 i
U | T S 211 § &R FH @ o B

TR o SATAR HES THl I E
1) TetE e
(2) S EA
(3) =fHa #H
(4) WA
Options:-

=1, Option ID :- 777,
= 2, Option ID :- 778,
= 3, Option ID :- 779,

= 4, Option ID :- 780,
Answer Given:- 1, Option ID : -777

Question ID:- 196

‘g IErt § I e e T £
(1) we&

(2) W

(3) w=HT

(4) WiTEe

Options:-

=1, Option ID :- 781,
= 2, Option ID :- 782,
= 3, Option ID :- 783,

= 4, Option ID :- 784,
Answer Given:- 4, Option ID : -784

Question ID:- 197

Options:-

=1, Option ID :- 785,
= 2, Option ID :- 786,
= 3, Option ID :- 787,
= 4, Option ID :- 788,
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Answer Given:- 4, Option ID : -788

Question ID:- 198

Options:-

=1, Option ID :- 789,
= 2, Option ID :- 790,
= 3, Option ID :- 791,

= 4, Option ID :- 792,
Answer Given:- 1, Option ID : -789

Question ID:- 199

Y T -1 ISR
) aqfd + ATk = AT
) W+ SYFR = TUIHR

y T+ srer = foae

Options:-

=1, Option ID :- 793,
= 2, Option ID :- 794,
= 3, Option ID :- 795,

= 4, Option ID :- 796,
Answer Given:- 4, Option ID : -796

Question ID:- 200

Options:-

«1, Option ID :- 797,
= 2, Option ID :- 798,
= 3, Option ID :- 799,

= 4, Option ID :- 800,
Answer Given:- 3, Option ID : -799

Subject : GA_Q21-Q30_PGTBT
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Question ID:- 201

Which of the following statement/s is/are correct about Assembly language ?
(A) In this, mnemonics are used to represent operation codes

(B) Writing Assembly language programs is easy and time-saving.

(C) It is machine ind'ependent

Choose the correct answer from the codes given below :

(1) (A) and (B) are correct

( (A) and (C) are correct

(3) (B) and (C) are correct

(4) Only (A) is correct

ST eivasl % A fefafes § 9 @9 9 s wd@ §/872
(A) Wﬁaﬁmmﬁﬂﬁ%mm(mnemOMm)ﬂmmm%l
(B) rdmach oiarst drmd =1 fera am % it e 599 s9M 91 7
(C) == 99 & Taa g e |
(1) aa (A) R (B) W& 1
(2) Ea (A) R (C) T £
) e (B) i (C) wE ¥
) e (A) TE T
Options:-
=1, Option ID :- 801,
« 2, Option ID :- 802,

« 3, Option ID :- 803,

« 4, Option ID :- 804,
Answer Given:- 3, Option ID : -803

Question ID:- 202

What is the name of the permanent tissue due to which flexibility in plants is possible ?
(1) Collenchyma

(2) Aerenchyma

(3) Epidermis

(4) Cuticle

IH = Fas 1 A # § TS0 s gl § =iy 99 B g ?

(1) Veldids®
(2) A
(3) A ==
(4) 3T
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Options:-

=1, Option ID :- 805,
= 2, Option ID :- 806,
= 3, Option ID :- 807,

= 4, Option ID :- 808,
Answer Given:- 1, Option ID : -805

Question ID:- 203

Consider the following statements regarding GRIHA (Green Rating for Integrated Habitat
Assessment) :

(A) The Unique Identification Authority of India (UIDAI) Headquarter in New Delhi won the
GRIHA award in 2022.

(B) In 2021, the Unique Identification Authority of India, (UIDAI) Headquarter in New Delhi
won the GRIHA award.

(C) UIDAI Headquarter in New Delhi won the GRIHA award as it promoted the idea of recycle
and reuse to reduce carbon footprint.

Which of the statements given above is/are correct ?
(1) Only (A ) and (B)

(2) Only (B)

(3) Onlv (A ) and (
(4) Only (B)
Options:-

=1, Option ID :- 809,
= 2, Option ID :- 810,
= 3, Option ID :- 811,

= 4, Option ID :- 812,
Answer Given:- 3, Option ID : -811

Question ID:- 204
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T (1) =1 = (1) 9 e Fifse qen = e 7 % & g9 &5 gu wé

Tt (1) T (10)
(Grom=Td gEERR fasid 2022) ()
) oo gpea = (i)  geeheSi
) g fagrd foree i) gl
) HEEHE Al HHL (i) FEAEA
Options:-

=1, Option ID :- 813,
= 2, Option ID :- 814,
= 3, Option ID :- 815,

= 4, Option ID :- 816,
Answer Given:- 1, Option ID : -813

Question ID:- 205

Which title/book has been selected for the Sahitya Akademi Award 2022 in Tamil language ?
(1) Noam Chomsky

(2) 1801
(3) Neervalari
(4) Kaala paani
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aftre s § wifed steRTeHl IUERR, 2022 % o fra wide/ g S gm g ?
(1) =1 <Rt
(2) 1801
(3) Eer
(4)  HTer gHl
Options:-

=1, Option ID :- 817,
= 2, Option ID :- 818,
= 3, Option ID :- 819,

= 4, Option ID :- 820,
Answer Given:- 3, Option ID : -819

Question ID:- 206

Who founded the Organization ‘Dravidar Kazhagam’ in India ?
(1) Jyotiba Phule

(2) E.V Ramasami Naicker

(3) M. Karunanidhi

(4) C.N. Annadurai

Options:-

=1, Option ID :- 821,
= 2, Option ID :- 822,
= 3, Option ID :- 823,

= 4, Option ID :- 824,
Answer Given:- 1, Option ID : -821

Question ID:- 207

Which kind of forests are at their best in areas having more than 200 cm of rainfall with short dry
seasons ?

(1) Tropical evergreen forests

(2) Mangrove forests
(3) Moist deciduous forests
(4) Tropical dry deciduous forests
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Bl Ik Hem iR 200 T A e auf arar &5 H fRY yER % 97 waifues wed-Fed § 2
(1) Swrhfede HeRRa o

(2) HHE

(3) 1% gofurd a4

(4) SorERfaHT YRR TR o9
Options:-

=1, Option ID :- 825,
= 2, Option ID :- 826,
« 3, Option ID :- 827,

= 4, Option ID :- 828,
Answer Given:- 1, Option ID : -825

Question ID:- 208

Who acquired the American social media company Twitter in 2022 ?
(1) Robber Barons

(2) Elon Musk

(3) Campbell Wilson

(4) Bill Gates
Options:-

=1, Option ID :- 829,
= 2, Option ID :- 830,
= 3, Option ID :- 831,

= 4, Option ID :- 832,
Answer Given:- 2, Option ID : -830

Question ID:- 209

Which of the following amendments were not made to the Constitution of India through the 4ond
Amendment passed in 1976 ?

(1) Added the words ‘Secular” and “Socialist’ to the Preamble of the Constitution.

(2) Increased the tenure of Lok Sabha from 5 to 6 years
(3) Added a new article to the Directive Principle of State Policy with the provision for ‘free legal
aid’,

(4) Reduced the voting age in India from 21 to 18 years
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9 1976 § Wiita foru U 42 § HyeF % aeay 9 vRa & diau § fraafafeas § 9 &9 o g9eiye 78
T o ?
(1) Hfaem =it =forem § ¢ adfrder’” R ameEE v Sie T

)
(2) AIRHYT T FHEHA 5 T4 F F@IHL 6 IH a1 T |

3) ‘Fges faftres Hemd’ & fau sus & |19 0 & ifa- e gl § wh 70 sr=g Sirel T
(4) 9RA H AR i 37 1 21 H F2E 18 99 foan 72|

Options:-

=1, Option ID :- 833,
= 2, Option ID :- 834,
= 3, Option ID :- 835,

= 4, Option ID :- 836,
Answer Given:- 3, Option ID : -835

Question ID:- 210

| Lhe Inrernartional leace Lay
The Non-Resident Indian Day
| The Foreign Policy Day

TH.FMH T 9 SHad 1915 i SfRT01 3TRIHT T 91991 ! YRa | dfaad & B H T S
g?

(1) @ feam

(2) Haugr wifq feew

(3) waE uid fead

(4) focw fifq feam
Options:-

=1, Option ID :- 837,
= 2, Option ID :- 838,
= 3, Option ID :- 839,

= 4, Option ID :- 840,
Answer Given:- 2, Option ID : -838

Subject : RA_Q31-Q35_PGTBT

Question ID:- 211
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N o1 27e & - M, N ot fiar &1

#N’ 1 372 & - M, N %l F&1 & |
I‘QaeN@P#R’ & @ ‘Q, R’ 4 fFa U 1
R GiE

|

) HE

) =

Options:-

=1, Option ID :- 841,
= 2, Option ID :- 842,
= 3, Option ID :- 843,

= 4, Option ID :- 844,
Answer Given:- 3, Option ID : -843

Question ID:- 212
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Three statements showing relationships have been given, which are followed by two conclusions
I and II. Assuming that the given statements are true, find out which of the conclusions is/are
definitely true ?

Statements :

1. M<R

2. L8

3. L=M2=2N<P
Conclusions :

) P>S
(Il N<R
(1) Only conclusion (I) is true
(2) Only conclusion (II) is true
(3) Both conclusions (I) and (L) are true
(4) Neither conclusion (I) nor (II) is true

3 HaY g are oid HyF Ty e ¥ 59 ae < e - 1efR i fen e € 1 ge W
it %, 7re 9 wifere fop Ty e fHfvem w9 @ o 882
O

1. M<R

2% L 3§
8. L=M=z2N<P

Options:-

=1, Option ID :- 845,
= 2, Option ID :- 846,
= 3, Option ID :- 847,

= 4, Option ID :- 848,
Answer Given:- 3, Option ID : -847

Question ID:- 213
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Seven friends A, B, C, D, E, F and G are sitting in a row facing South. ‘B” and “F" are not sitting
together. ‘C’ is sitting second to the left of ‘D", “A’ is not sitting with ‘C". ‘D’ is sitting fourth to the
right of ‘E’.“A” and ‘B’ are not sitting together. Only ‘E’ is sitting between ‘F’ and ‘G’. ‘G’ is sitting
second to the left of one who is sitting second to the left of ‘A’. Name two persons who are sitting
at the extreme ends ?

(1) “Fand’G’
(2) ‘C’ and ‘D’
(3) “A’and ‘B’
(4) ‘A’and ‘F

Options:-

=1, Option ID :- 849,
= 2, Option ID :- 850,
= 3, Option ID :- 851,

= 4, Option ID :- 852,
Answer Given:- 3, Option ID : -851

Question ID:- 214

Three statements are given, followed by three conclusions I, Il and III. You have to consider these
statements to be true, even if they seem to be at variance from commonly known facts. You are to
decide which of the given conclusions logically follow(s) from the given statements ?

Statements :
1. Some rats are cats.
2. No cat is crow.
3.  All crows are parrots.

Conclusions :
(I) Some parrots are cats.
(I) No parrot is cat.
(III) Some rats are crows.

(1) Only Conclusion (I) follows

(2) Only Conclusion (III) follows

(3) Only Conclusions (I) and (III) follows
(4) Only either Conclusion (I) or (II) follows
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== 19 e fRe e € Sk e o1 fAmeed - 1, 11 $iR I R 710 | SRl 39 shel = W8l A/l © | o
;96 a2l § e o A 2 g fola e e vl freed feg e el | ot w9
Teheran 278 ?

heH :
1. 7o I fafeemi €1
2. =g fareett Hren 78 &1
3. O HTdd E )
freeret

() s drd fafeera €1
(I) 1S dran feeet =& 81
(II) FBFE HLEI

(1) <haa =Ry - (1) Fererar @

(2) Faa Frerd - (10) e &

(3) Haw frs=rd - (1) R (1) Fremeran &

(4) Hae =1 T e - (1) steEn freed - (1) frerer €

Options:-

=1, Option ID :- 853,
= 2, Option ID :- 854,
= 3, Option ID :- 855,

= 4, Option ID :- 856,
Answer Given:- 4, Option ID : -856

Question ID:- 215
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Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :

Men, Singers, Women
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feu wu fared] & 9 UH 94 310@ &1 994 FieQ o €0 T av & &9 &t Tau 6l g9 8

(1)
(2)
Options:-

=1, Option ID :- 857,
= 2, Option ID :- 858,
= 3, Option ID :- 859,

= 4, Option ID :- 860,
Answer Given:- 3, Option ID : -859

Subject : CL_Q36-Q40_PGTBT

Question ID:- 216

Which shortcut key combination prints a documents in MS-Word ?

(1) Shift+ P
(2) Cul+P
(3) Alt+P
(4) Space + P
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T TE-9€ | FH-91 e i Gare foat stwre # fifz F=a &2

(1) Shift+ P
(2) CiHl=+P
(3) Alt+P
(4) Space + P
Options:-

=1, Option ID :- 861,
= 2, Option ID :- 862,
= 3, Option ID :- 863,

= 4, Option ID :- 864,
Answer Given:- 2, Option ID : -862

GET IT ON
Google Play

Question ID:- 217

only (a) and 0
only (a) and (b)
only (b) and (c)

Tordt sifqafen faren g @9 ©f et (TR) § e s 82

(a) Toiex & oz =1
(b) TS A B
(c) aEH 9 el
(1) (), (b) 3R (¢)
(2) HEA (a) 3R (o)
(3) hEE (a) ST (b)
(4) e (b) ¥R (o)
Options:-

=1, Option ID :- 865,
= 2, Option ID :- 866,
= 3, Option ID :- 867,

= 4, Option ID :- 868,
Answer Given:- 2, Option ID : -866

Question ID:- 218
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A MS-PowerPoint presentation is generally saved with an extension (Choose the most appropriate
one from the following options) :

(1)  .ppx
(2)  -ppe
(3) -ppt
(4) .ppm

Tordll wreR—aize wqfd 1 WHEFEET: U TS & gR1 He frn S ® (Frefafea § @ waifis suge
1 FEA FIfeT) :

(1) .ppx
(2) -ppc
(3) .ppt
(4) .ppm
Options:-

=1, Option ID :- 869,
= 2, Option ID :- 870,
= 3, Option ID :- 871,

= 4, Option ID :- 872,
Answer Given:- 3, Option ID : -871

Question ID:- 219

What is the full form of VDU ?
(1) Visual Display Unit

(2) Versatile Display Unit
(3) Visual Depth Unit

(4) Visual Detail Unit

Options:-

=1, Option ID :- 873,
= 2, Option ID :- 874,
« 3, Option ID :- 875,

= 4, Option ID :- 876,
Answer Given:- 1, Option ID : -873

Question ID:- 220
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Which of the following statements is false ?

(1) Windows offers various text-editing software like Wordpad and Notepad
(2) Notepad files have the extension xtf

(3) Wordpad can be used to create letters, notes which use basic formatting
(4)

Word has the maximum formatting feature as compared to Notepad and Wordpad

Frefafag § ¥ &9 o wF w8 T8 €2

(1) TS agie oin Al 59 s oFe-uEifdn Weaa Suerey Fr €1

(2) Arele HEd F THELYE stf T

(3) aSle % yEm Sed, e A § o o g € o St wfEn g A #
(4) Uz iR agie #i ga § 98 # eifueran wfen fagman (wew) B9 ¥

Options:-

=1, Option ID :- 877,
= 2, Option ID :- 878,
= 3, Option ID :- 879,

= 4, Option ID :- 880,
Answer Given:- 2, Option ID : -878

Subject : UL_Q41-Q55_PGTBT

Question ID:- 221

Options:-

=1, Option ID :- 881,
= 2, Option ID :- 882,
= 3, Option ID :- 883,

= 4, Option ID :- 884,
Answer Given:- 4, Option ID : -884

Question ID:- 222
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The socio-emotional learning in the process of
(1) Development of self control

(2) Enhancement of linguistic ability

(3) Self Development

(4) Self Discipline

gratfsier- e sifermy feifea # 9 e g 82

(1)  ster-Tgsmr = faws
(2)  TER-FEE T HaEA
(3) SAH-SHAM

(4) STH-HTAEA

Options:-

=1, Option ID :- 885,
= 2, Option ID :- 886,
= 3, Option ID :- 887,

= 4, Option ID :- 888,
Answer Given:- 3, Option ID : -887

Question ID:- 223

Which of the following would ensure socio-emotional learning ?
(1) Discipline

(2) Punctuality

(3) Relationship

(4) Positive attitude

Options:-

=1, Option ID :- 889,
= 2, Option ID :- 890,
= 3, Option ID :- 891,

= 4, Option ID :- 892,
Answer Given:- 3, Option ID : -891

Question ID:- 224

https://kvsexam20feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369 2971 460b 9691 98a128654623&Rollno 220424701 24/97


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/10/23, 1:07 AM Response Sheet

"NCPFECCE’ of NEP-2020, covers :

(1) Pedagogical framework for 0 - 3 years
(2) Pedagogical framework for 0 - 8 years
(3)

(4) Pedagogical framework for 1 - 15 years

Pedagogical framework for 3 - 14 years

=3 foren +fifd, 2020 § Sfeerfed ‘&t 9t uw € € € 2 H e §

(1) 0-399 & faenfefi & fom femarsia w9
(2) 0-87H % fa=nfei & fou e saw
(3) 3-14 =4 % feenfeldi & fau foemmeia o
(4) 1-15=4 % faanfii & fou femrsi sqean

Options:-

=1, Option ID :- 893,
= 2, Option ID :- 894,
= 3, Option ID :- 895,

= 4, Option ID :- 896,
Answer Given:- 3, Option ID : -895

Question ID:- 225

NCF-2005 mainly recommended :

(1) Reducing Teacher-Pupil ratio

(2) Connecting knowledge to life outside the school
(3) 25% reservation for EWS

(4) Development of school Infrastructure

T YISl T (T H UE), 2005 H HEEa: 1 e w2
(1) seAYH-frs S9E 1 "92m

(2) FH = foramerE & SR & TRew 9 Hag A

(3) onfées Y § FHSIR v o faenfef & fom 25% strem =t gfaen
(4) TaemeE @i sTEEE w1 T

Options:-

=1, Option ID :- 897,
= 2, Option ID :- 898,
= 3, Option ID :- 899,

=« 4, Option ID :- 900,
Answer Given:- 2, Option ID : -898

Question ID:- 226
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Options:-

=1, Option ID :- 901,
= 2, Option ID :- 902,
= 3, Option ID :- 903,

= 4, Option ID :- 904,
Answer Given:- 1, Option ID : -901

Question ID:- 227

What could be the reason for under achievement of the child ?
(1) TLack of parent support

(2) Undesirable environment

(3) Lack of proper guidance

(4) Poverty

Options:-

=1, Option ID :- 905,
= 2, Option ID :- 906,
= 3, Option ID :- 907,

= 4, Option ID :- 908,
Answer Given:- 1, Option ID : -905

Question ID:- 228
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Who Propounded Two-fold personality of extravert and Intravert ?

(1) Adler
(2)  Jung
(3) Freud
(4) Rogers
Options:-

=1, Option ID :- 909,
« 2, Option ID :- 910,
=« 3, Option ID :- 911,

= 4, Option ID :- 912,
Answer Given:- 1, Option ID : -909

Question ID:- 229

aeTeh] H AT W3 i gL A o fau faeifera | 9 fore waim feman &2

(1) =reHd
(2) TeFT
(3) WIS
(4) S
Options:-

=1, Option ID :- 913,
= 2, Option ID :- 914,
« 3, Option ID :- 915,

= 4, Option ID :- 916,
Answer Given:- 3, Option ID : -915

Question ID:- 230
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= H 3id: dafedes TaY F1 SFT F ! dhAE (wfaf) = A g2

(1) =hfafd
(2) HHrsffd
(3) HAIAM
(4) HiferERm
Options:-

=1, Option ID :- 917,
« 2, Option ID :- 918,
= 3, Option ID :- 919,

= 4, Option ID :- 920,
Answer Given:- 4, Option ID : -920

Question ID:- 231

Options:-

=1, Option ID :- 921,
= 2, Option ID :- 922,
= 3, Option ID :- 923,

= 4, Option ID :- 924,
Answer Given:- 1, Option ID : -921

Question ID:- 232
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The term ‘Gestalt’ refers to :
(1) Integrated whole

(2) Stimulus-response

(3) Programmed learning
(4)

4) Canditional learning

‘Sreree’ ug o A faeifea 9 e B 2

(1) THFET F

(2) SErTA-sTRH
(3) T eferm
(4) @rggfee st

Options:-

=1, Option ID :- 925,
« 2, Option ID :- 926,
= 3, Option ID :- 927,

= 4, Option ID :- 928,
Answer Given:- 3, Option ID : -927

Question ID:- 233

Which one of the following is ‘non-invasive’ ?
(1) Biological therapy

(2) Psychotherapy

(3) Radiotherapy

(4) Chemotherapy

Options:-

=1, Option ID :- 929,
= 2, Option ID :- 930,
« 3, Option ID :- 931,

= 4, Option ID :- 932,
Answer Given:- 2, Option ID : -930

Question ID:- 234
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(1)

)
)
@

Which one of these lead to indiscipline among students ?

Poor Home environment

Biased attitude of teachers towards students
Lack of support from school

Communal Tension

Freifra § & foreer aftomm oy foenfolal & sremediaar Seas! 2l @ ?

(1) 78 F1 T 9

(2) eremgeRi = faenferl & i geramgof S
(3) Termem™ | WEIr w1 29T

(4) GrHEIES

Options:-

=1, Option ID :- 933,
« 2, Option ID :- 934,
= 3, Option ID :- 935,

= 4, Option ID :- 936,
Answer Given:- 2, Option ID : -934

GET IT ON
Google Play

Question ID:- 235

Which one of the following would form emotional support to school ?

(1) Quality of feedback
(2) Good learning strategies
(3) Positive connection among teachers students and parents
(4)  Achievement of students in exams
Options:-

=1, Option ID :- 937,
= 2, Option ID :- 938,
« 3, Option ID :- 939,

= 4, Option ID :- 940,
Answer Given:- 3, Option ID : -939

Subject : UTL_Q56-Q70_PGTBT

Question ID:- 236
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‘Environment’ is an element of

(1) Behaviourism
(2) Constructivism
(3) Realism

(4) Connectivism

“rater’ freifra | 4 frgam aea € 2

(1) =HERRAR
(2) THAER
(3) AR
(4) HHHMERE
Options:-

=1, Option ID :- 941,
= 2, Option ID :- 942,
= 3, Option ID :- 943,

= 4, Option ID :- 944,
Answer Given:- 4, Option ID : -944

Question ID:- 237

Which one of the following would enhance learning in classroom ?
(1) Lecture method

(2) Questioning technique

(3) Useof AV aids

(4)  Use of black board

Options:-

=1, Option ID :- 945,
= 2, Option ID :- 946,
= 3, Option ID :- 947,

= 4, Option ID :- 948,
Answer Given:- 1, Option ID : -945

Question ID:- 238
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“The learners are involved in reflecting of their own experiences’. Which theory of learning would
you think in this case ?

(1) Perspective learning

(2) Constructive learning
(3) Behavioural learning
(4) Congnitive learning

* siferrreRal oToR w9 % eFya W favaa | o 21 stuent gfe § uw T wen @ sifur fagia #2

(1) Heult sAferm

(2) TEAERE s
(3) eHERREwR At
(4) HFEE! Ak
Options:-

=1, Option ID :- 949,
= 2, Option ID :- 950,
= 3, Option ID :- 951,

= 4, Option ID :- 952,
Answer Given:- 4, Option ID : -952

Question ID:- 239

S 3 faenedf & wen forg yor & geiy 4 sifarm = gaga am?

(1) HieR Hay

(2) HTEHTCHE Ha

(3) wEErEd Hay

(4) HHEISF Hay
Options:-

=1, Option ID :- 953,
= 2, Option ID :- 954,
« 3, Option ID :- 955,

= 4, Option ID :- 956,
Answer Given:- 2, Option ID : -954

Question ID:- 240
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Options:-

=1, Option ID :- 957,
= 2, Option ID :- 958,
= 3, Option ID :- 959,

= 4, Option ID :- 960,
Answer Given:- 1, Option ID : -957

Question ID:- 241

Which one of the following would affect learning in classroom ?
(1) Well designed curriculum

(2) Good time table
(3) Good Principal
(4)  Air conditioned classroom

Options:-

=1, Option ID :- 961,
= 2, Option ID :- 962,
= 3, Option ID :- 963,

= 4, Option ID :- 964,
Answer Given:- 1, Option ID : -961

Question ID:- 242

https://kvsexam20feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369 2971 460b 9691 98a128654623&Rollno 220424701 33/97


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/10/23, 1:07 AM Response Sheet

An educational tour to a zoo in local area would ensure :
(1) better understanding of nature
better insight en living condition of animals

(2)
(3) appreciation of the learner towards nature
(4)

good enjoyment

Options:-

=1, Option ID :- 965,
= 2, Option ID :- 966,
= 3, Option ID :- 967,

= 4, Option ID :- 968,
Answer Given:- 3, Option ID : -967

Question ID:- 243

Options:-

=1, Option ID :- 969,
= 2, Option ID :- 970,
= 3, Option ID :- 971,

= 4, Option ID :- 972,
Answer Given:- 4, Option ID : -972

Question ID:- 244
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Options:-

=1, Option ID :- 973,
= 2, Option ID :- 974,
= 3, Option ID :- 975,

= 4, Option ID :- 976,
Answer Given:- 3, Option ID : -975

Question ID:- 245

What is the purpose of curriculum in school ?
(I) To standardize learning goals

(2) To complete syllabus in time

(3) To achieve instructional objectives

(4)

4 To conduct exam in ime

Options:-

=1, Option ID :- 977,
= 2, Option ID :- 978,
= 3, Option ID :- 979,

= 4, Option ID :- 980,
Answer Given:- 1, Option ID : -977

Question ID:- 246
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What is an essential feature of curriculum ?
(I) Gaining knowledge

(2)  Skills in application of knowledge

(3) Getting good marks

(4)

Understanding the subject

Options:-

=1, Option ID :- 981,
= 2, Option ID :- 982,
= 3, Option ID :- 983,

= 4, Option ID :- 984,
Answer Given:- 2, Option ID : -982

Question ID:- 247

Options:-

=1, Option ID :- 985,
= 2, Option ID :- 986,
= 3, Option ID :- 987,

= 4, Option ID :- 988,
Answer Given:- 3, Option ID : -987

Question ID:- 248

https://kvsexam20feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369 2971 460b 9691 98a128654623&Rollno 220424701 36/97


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/10/23, 1:07 AM Response Sheet

The following would empower the child in classroom :
(1) Constructivism

(2) Behaviourism

(3) Realism

(4) Connectivism
Options:-

=1, Option ID :- 989,
= 2, Option ID :- 990,
= 3, Option ID :- 991,

= 4, Option ID :- 992,
Answer Given:- 1, Option ID : -989

Question ID:- 249

Options:-

=1, Option ID :- 993,
= 2, Option ID :- 994,
= 3, Option ID :- 995,

= 4, Option ID :- 996,
Answer Given:- 1, Option ID : -993

Question ID:- 250
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Why feedback system is necessary in classroom ?
(1) To understand potential of teacher

(2) To measure learning level of students

(3) For self improvement of teacher and student
(4)

4) Administrative requirement

Options:-

=1, Option ID :- 997,
= 2, Option ID :- 998,
= 3, Option ID :- 999,

= 4, Option ID :- 1000,
Answer Given:- 3, Option ID : -999

Subject : CCLE SOL PE_Q71-Q80_PGTBT

Question ID:- 251

What is ‘Manodarpan’ recently launched by MOE :

(I) To support students for academic learning

(2) Counseling given to students for Board Exams
(3) Guidance to the students for competitive exam
(4)

4) To support the students suffering from mental disorder

Options:-

=1, Option ID :- 1001,
= 2, Option ID :- 1002,
« 3, Option ID :- 1003,

= 4, Option ID :- 1004,
Answer Given:- 4, Option ID : -1004

Question ID:- 252
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Lack of professional counselors in schools leads to

(1) Increasing mental illness among children
(2) Decreasing interest on studies

(3) Low level of motivation

(4) Less participation in games & sports

Options:-

=1, Option ID :- 1005,
= 2, Option ID :- 1006,
= 3, Option ID :- 1007,

= 4, Option ID :- 1008,
Answer Given:- 1, Option ID : -1005

Question ID:- 253

Options:-

=1, Option ID :- 1009,
= 2, Option ID :- 1010,
= 3, Option ID :- 1011,

= 4, Option ID :- 1012,
Answer Given:- 3, Option ID : -1011

Question ID:- 254
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What is the important character of school leader ?
(1) Aggression

(2) Qualification

(3) Co-operation

(4) Conviction
Options:-

=1, Option ID :- 1013,
= 2, Option ID :- 1014,
= 3, Option ID :- 1015,

= 4, Option ID :- 1016,
Answer Given:- 3, Option ID : -1015

Question ID:- 255

Options:-

=1, Option ID :- 1017,
= 2, Option ID :- 1018,
= 3, Option ID :- 1019,

= 4, Option ID :- 1020,
Answer Given:- 2, Option ID : -1018

Question ID:- 256
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Options:-

=1, Option ID :- 1021,
= 2, Option ID :- 1022,
= 3, Option ID :- 1023,

= 4, Option ID :- 1024,
Answer Given:- 4, Option ID : -1024

Question ID:- 257

What is the role of PTA in school ?
(1) To give constructive suggestions for school development

(2) To find fault with school programs
(3) To attend school programs
(4) To discuss the student problems with the management

Options:-

=1, Option ID :- 1025,
= 2, Option ID :- 1026,
= 3, Option ID :- 1027,

= 4, Option ID :- 1028,
Answer Given:- 4, Option ID : -1028

Question ID:- 258
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(1) UGC
(2) CBSE
(3) NCTE
(4) NCERT

Options:-

=1, Option ID :- 1029,
= 2, Option ID :- 1030,
= 3, Option ID :- 1031,

= 4, Option ID :- 1032,
Answer Given:- 4, Option ID : -1032

Response Sheet

Who prepared National Curriculum Frame-work 2005 ?

GET IT ON
Google Play

Question ID:- 259

What is ‘ECCE’ according to NEP 2020 ?

(1) Elementary Childhood Centre and Education

(2) Early Childhood Care and Education

(3) Essential Childhood Care and Education

(4) Emotional Childhood Care and Education
Options:-

=1, Option ID :- 1033,
= 2, Option ID :- 1034,
= 3, Option ID :- 1035,

= 4, Option ID :- 1036,
Answer Given:- 1, Option ID : -1033

Question ID:- 260

https://kvsexam20feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369 2971 460b 9691 98a128654623&Rollno 220424701 42/97


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/10/23, 1:07 AM Response Sheet

RTE Act 2009 came into effect from :
(1) I5t April 2009

(2) It June 2009

(3) I®t April 2010

(4) 5t July 2010

Options:-

=1, Option ID :- 1037,
= 2, Option ID :- 1038,
= 3, Option ID :- 1039,

= 4, Option ID :- 1040,
Answer Given:- 3, Option ID : -1039

Subject : BT_Q81-Q180_PGTBT

Question ID:- 261

Which of the following is an example of Metalloprotein ?
(1) Chylomicron

(2) Cadherin

(3) Fibronectin

(4) Ferritin
Options:-

=1, Option ID :- 1041,
= 2, Option ID :- 1042,
= 3, Option ID :- 1043,

= 4, Option ID :- 1044,
Answer Given:- 4, Option ID : -1044

Question ID:- 262
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(1)

)
)
@

Find the incorrect statement on the basis of “ Cell Theory”.

Cell is the structural and functional unit of all living organisms
Cell comes from pre-existing cells.

Every living organisms are made by its own energy

All organisms are made up of one or more cells

“Od SR % STER W Ted Y @i |

(1) HiferEm |t Sifaa sital &1 YA SR FEie® 5FE §
(2)  RIToTRT Teet § HisE iRt 9 o ®

(3) UHF Shta erat & e | fta g g

(4) Wl Sfta W TF A stk it | o6 e @
Options:-

=1, Option ID :- 1045,
« 2, Option ID :- 1046,
= 3, Option ID :- 1047,

= 4, Option ID :- 1048,
Answer Given:- 3, Option ID : -1047

GET IT ON
Google Play

Question ID:- 263

Options:-

=1, Option ID :- 1049,
= 2, Option ID :- 1050,
= 3, Option ID :- 1051,

= 4, Option ID :- 1052,
Answer Given:- 1, Option ID : -1049

Question ID:- 264
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(2)
(3) Hormonal - Actin
(4)

Options:-

«1, Option ID :- 1053,
= 2, Option ID :- 1054,
= 3, Option ID :- 1055,
= 4, Option ID :- 1056,

(1) Defense - Snake venom
Cell recongnition - MHC proteins

Membrane transport - Aquaporin

Response Sheet

Which of the following is a mismatch of the major function of protien and their example ?

GET IT ON
Google Play

Answer Given:- 3, Option ID : -1055
Question ID:- 265
Match the following :
Column (A) Column (B)
(A) Lymphoma (i) Skin cancer
(B) Sarcoma (i) Lymphatic system
(C) Melanoma (iii) Connective tissue
(D) Carcinoma (iv) Epithelial tissue
(E) Leukemia (v) Blood
(D) (A)y@v), (B)-), (C)-(1), (D)-(ii), (E)-(v)
(2)  (A)(), (B)-(i), (C)-(1), (D)-v), (E)-(v)
(3)  (A)Q), (B)-(i), (O)-v), (D)-(v), (E)-(ii)
(4)  (A)(), (B)-(v), (C)- (1), (D)-().(E)-(v)
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=1, Option ID :- 1057,
=« 2, Option ID :- 1058,
= 3, Option ID :- 1059,
= 4, Option ID :- 1060,

Response Sheet

Frfafaa =1 faam Fifs :

Hic (A) e (B)
(A) Tewm () o= HE
(B) HTHMI (i) TR GOl
(C) Herm (iii) HAST Fdh
(D) RITEAMT (iv) JUFAl Ik
(E) gHf (v) T
(1) (A)-wv), (B)-(i), (O)-@), (D)-(ii), (E)-(v)
(2)  (A)(H), (B)-Gii), (O-@1), (D)-(v), (E)-(v)
(3)  (A)-(), (B)-(ii), (O)-(iv), (D)-(v), (E)-(iii)
(4)  (A)(iti), (B)-(iv), (O)- (@), (D)-(id),(E)-(v)
Options:-

Answer Given:- 2, Option ID : -1058

GET IT ON
Google Play

Question ID:- 266

Options:-

=1, Option ID :- 1061,
= 2, Option ID :- 1062,
= 3, Option ID :- 1063,
« 4, Option ID :- 1064,

Answer Given:- 3, Option ID : -1063

Question ID:- 267
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Which one of the following statements is true about non- competitive inhibition ?
(1) K, decrease

(2) V. increase
(3) K, increase
(4)  V,ax decrease

T-wfaersf iy & ot § f=fafad § 9 sE-9 %99 ' § 2

(1) K, =i =
(2) Ve ¥ 3
(3) Km El-ﬁ qﬁg
(4) Vmax aﬁ aﬂ:ﬁ
Options:-

=1, Option ID :- 1065,
= 2, Option ID :- 1066,
= 3, Option ID :- 1067,

= 4, Option ID :- 1068,
Answer Given:- 2, Option ID : -1066

Question ID:- 268

Options:-

=1, Option ID :- 1069,
= 2, Option ID :- 1070,
= 3, Option ID :- 1071,

= 4, Option ID :- 1072,
Answer Given:- 3, Option ID : -1071

Question ID:- 269
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Which one of these is not classical breeding method of crop improvement ?
(I) Map based cloning

(2) QTL mapping

(3) Hybridization

(4) Site directed mutagenesis
Options:-

=1, Option ID :- 1073,
= 2, Option ID :- 1074,
= 3, Option ID :- 1075,

= 4, Option ID :- 1076,
Answer Given:- 4, Option ID : -1076

Question ID:- 270

iy faeel s w1 SAfiers & gren sl SAafas ® 9 ®adid qid), e 9El 9§59
& SUART gH Iedried feRam T o

(1)  THEHFIEIT ZHEREH
(2) e gRfefgg

(3)  SRIFSIfead Ficrar

(4) TG EEUREITET

Options:-

=1, Option ID :- 1077,
= 2, Option ID :- 1078,
= 3, Option ID :- 1079,

= 4, Option ID :- 1080,
Answer Given:- 1, Option ID : -1077

Question ID:- 271
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These are 16 potential 4bp restriction sites ; not all potential sites match an endonuclease activity
that is known to exist. Alternative enzymes can potentially cleave the same site at a different rate
even if they recognise that same site. Which of these is an alterntive enzyme ?

(1) Neoschizomers
(2) Isocaudomers
(3) Isoschizomers
(4) Isozymes

16 HHIfad 4bp Widafed WEe € Wi Tas o Uerfdees fafafy ¥ 0 T8 @il § =1 f sifea 1 €
Ferfeus USEy Huifed B9 9 UH 8 RS i UF Ao @ 1 faufed o a%d €1 96 € 9 T & 9ige &6
&= 8l | 570 § i U dehfods Teeq § 82

(1) FEmERsE
(2) STEEEHEEE
(3) sTRHITESTE
(4) STEHETET

Options:-

=1, Option ID :- 1081,
= 2, Option ID :- 1082,
= 3, Option ID :- 1083,

= 4, Option ID :- 1084,
Answer Given:- 3, Option ID : -1083

Question ID:- 272

Which type of activity is demonstrated by DNA Polymerase ?
(1) 5" -3 exonuclease activity only

(2) 5-3 and 3'- 5’ exonuclease activities
(3) 5'-3 endonuclease activity
(4) 5'-3 and 3'- 5’ endonuclease activities

Options:-

=1, Option ID :- 1085,
= 2, Option ID :- 1086,
= 3, Option ID :- 1087,

= 4, Option ID :- 1088,
Answer Given:- 2, Option ID : -1086
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Question ID:- 273

is an organotypic culture from excised piece of leaf or stem tissue used in

micropropagation.

(1) Microshoot

(2) Medium

(3) Explant

(4) Scion

e yada | WgE Ui A1 91 % Fae o He g The § U SRR Feal © |

(1) R

(2) HIEHH

(3) UHHER

(4) @9
Options:-

=1, Option ID :- 1089,
= 2, Option ID :- 1090,
= 3, Option ID :- 1091,

= 4, Option ID :- 1092,
Answer Given:- 4, Option ID : -1092

Question ID:- 274

The haemoglobin molecule contains

(1) Four closely bound peptide chains

(2) Hydrophilic pocket around heme group
(3) Iron containing porphyrin ring

(4) Disulphide bridge

daraifan ey & Bl g1
(1) =R aRiF § i T2Ee g

(2) M EHE % IR SR TEEfhias dihe
(3) APRA gad UrEERA i

(4) SEHTEEE fos

Options:-

=1, Option ID :- 1093,
= 2, Option ID :- 1094,
= 3, Option ID :- 1095,

= 4, Option ID :- 1096,
Answer Given:- 3, Option ID : -1095

Question ID:- 275
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Position effect is the result of :
(1) Transversion

(2) Deletion

(3) Mutation

(4) Inversion

feerdft woma =1 9Rum g1
(1) T3

(2) faem

(3) Seafads

(4) A
Options:-

=1, Option ID :- 1097,
« 2, Option ID :- 1098,
= 3, Option ID :- 1099,

= 4, Option ID :- 1100,
Answer Given:- 4, Option ID : -1100

Question ID:- 276

A disease that develops when a particular toxin enters the body of a host is called :

(1) Exotoxins
(2) Intoxications
(3) Endotoxins
(4) toxicum

Options:-

=1, Option ID :- 1101,
= 2, Option ID :- 1102,
= 3, Option ID :- 1103,

= 4, Option ID :- 1104,
Answer Given:- 4, Option ID : -1104

Question ID:- 277
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Gas interactions with water molecules determine how soluble they are in water. In water four
gases are dissolved: ammonia, Carbon dioxide, Oxygﬂn and sulphur dioxide. Which among the
fo]lowing statement about their solubility is correct ?

(1) Ammonia > Oxygen > Sulphur dioxide > Carbon dioxide

(2) Oxygen > Carbon dioxide > Sulphur dioxide > Ammonia
(3) Sulphur dioxide > Oxygen > Ammonia > Carbon dioxide
(4) Ammonia > Sulphur dioxide > Carbon dioxide > Oxygen

T & A0S o T T % R e 9w Ayl w © 3 e | e geeeid € e 3, = R 39
" o, e SETaEE, e R Hew SRuiedEe’’ ge Sl € | Sl gereiied % 9 |
Frefafaa § 8 $9-01 %97 @& &2

(1) I > SEsH > o9 SREATES > HEd SEAFES
(2) Al > HET SEFES > TeH SEHEIES > STHIHA
(3) HEH SEIAFEE > HlFHSH > AR > Fled SEAFIES
(4) IR > TEH SEATIEE > AT SRS > FdeH

)
)
Options:-

=1, Option ID :- 1105,
= 2, Option ID :- 1106,

= 3, Option ID :- 1107,

= 4, Option ID :- 1108,
Answer Given:- 2, Option ID : -1106

Question ID:- 278

In plasma membrane, Carbohydrate is present on the :
(1) Both layers of lipid

) Only on cytosolic side of lipid bilayer

) Only on non- cytosolic side of lipid bilayer
)

Embedded in lipid bilayer

3 12

(
(
(4

Options:-

=1, Option ID :- 1109,
= 2, Option ID :- 1110,
= 3, Option ID :- 1111,

= 4, Option ID :- 1112,
Answer Given:- 3, Option ID : -1111
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GET IT ON
Google Play

Response Sheet

Question ID:- 279

HHHIGR feehTH =1 T SeR el
(1) wefE - 2 & Teshd

(2) | e 3R S Ay

(3) T TeEEt SR S A fersd

(4) FHIBHR! R FHANE G |

Options:-

=1, Option ID :- 1113,
= 2, Option ID :- 1114,
= 3, Option ID :- 1115,

= 4, Option ID :- 1116,
Answer Given:- 3, Option ID : -1115

Question ID:- 280

Match the following Immunoglobulin in column (A) with their respective function

Column (A) Column (B)
(A) IgA (i) Allergic reaction
(B) IgG (ii) Significantly cross the Placenta
(C) IgE (iti) Protection against infection
(D) IgM (iv) Secretary immunoglobulin found in colostrum
(1) (A)@v), (B)-(i), (C)-(), (D)-(iii)
(2)  (A)(iid), B)-(1), (O)-(), D)-(iv)
) (AXG), (B)-G), ()i, (D)
(4)  (A)(i), (B)-(ii), (C)- (), (D)-(iv)
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e (A) H fEU T geAre e a9 e (B) H 39 Hafdd il o 91y e i)
Hietd (A) hictd (B)

(A) IgA (i) uers @t widlwa

(B) IgG () TeEyo TY F T H IR H

(C) TIgE (ifi) HHAY H FEE

(D) IgM (iv) HEREH % BE SEFTelgien 9@ Sl §
(D) (A)-@v), (B)-(i), (O)-(1), (D)-(iii)

(2)  (A)-(iii), (B)-(0), (C)-(ii), (D)~(iv)

(3)  (A)-(v), (B)-(i), (C)-(ii), (D)-(iid)

(4)  (A)(ii), (B)-(id), (©)- (i), (D)~(iv)
Options:-

=1, Option ID :- 1117,
= 2, Option ID :- 1118,
= 3, Option ID :- 1119,

= 4, Option ID :- 1120,
Answer Given:- 1, Option ID : -1117

Question ID:- 281

B - Cell maturation occur in

(1) Hematopoietic stem cells
Spleen

(2)
(3) Thymus
(4) Bone marrow

-9 ki g H 2l 8
(1) ¥ B i

(2) TfrE

(3) 9EHE

(4) fey wsT

Options:-

=1, Option ID :- 1121,
= 2, Option ID :- 1122,
= 3, Option ID :- 1123,

= 4, Option ID :- 1124,
Answer Given:- 4, Option ID : -1124

Question ID:- 282
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Which of the following is a false objective of centrifugation ?

(1) Purifying the component by adding impurities into the supernatant liquid.

(2) To evaluate the emulsion and suspensions for creaming and sedimentation at high speeds.
(3) To extract the parent liquor from the crystalline drugs
(4)

4) Separation of immiscible liquids.

Options:-

=1, Option ID :- 1125,
= 2, Option ID :- 1126,
= 3, Option ID :- 1127,

= 4, Option ID :- 1128,
Answer Given:- 1, Option ID : -1125

Question ID:- 283

Homeostasis is best defined by which of the following statements ?
(1) Maintaining a stability while adjusting state of the body.

(2) Unstable equilibrium

(3) Keeping the internal environment near- constant

(4)

4) Changing the external environment to meet the body requirements.

Options:-

=1, Option ID :- 1129,
= 2, Option ID :- 1130,
= 3, Option ID :- 1131,

» 4, Option ID :- 1132,
Answer Given:- 3, Option ID : -1131

Question ID:- 284
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Given the DNA sequence TAGGTTCA, which sequence is used by researchers as an antisense

molecule ?

(1) UAGGUUCA
(2) ATCCAAGT
(3) AUCCAAGU
(4) UTCCAAGT

DNA #ThH TAGGTTCA =i 3@d gU, Yadisl g/ UE- V] & ®9 H T STH %1 39 foman

ST 8 2

(1) UAGGUUCA

(2) ATCCAAGT

(3) AUCCAAGU

(4) UTCCAAGT
Options:-

«1, Option ID :- 1133,
= 2, Option ID :- 1134,
= 3, Option ID :- 1135,

= 4, Option ID :- 1136,
Answer Given:- 3, Option ID : -1135

Question ID:- 285

The bacterial genome is around g
(1) 4 million base pairs

(2) 4.6 million base pairs
(3) 5 million base pairs
(4)

4) 6 million base pairs

Eicivcisiicattul BT ¥ |
(1) 4 Tofers a9 T
(2) 4.6 TafeE o9 TIH
(3) 5 fafeEs o= T
(4) 6 TafeEa o9 Tad
Options:-

=1, Option ID :- 1137,
= 2, Option ID :- 1138,
= 3, Option ID :- 1139,

= 4, Option ID :- 1140,
Answer Given:- 2, Option ID : -1138

Question ID:- 286
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If we recieved two sequences from the supervisors, A and B, your supervisor instructed you to
determine the sequence similarity and identity of the entire sequence. Which sort of alignment is
preferable ?

(1) Local alignment

(2) Global alignment

(3) Phylogenetic analysis

(4) Multiple sequence alignment

R B THEee, A 3R B 9§ €1 SHY T gY, o SI9k WA T U Y ST i ST T 8iY
e fuifta w5 o e foon | g yem 1 dram sea 82

(1) A HE@

(2) dftFs HEEm

(3) demEe fagerym

(4) UHIfEeF FIHE @
Options:-

=1, Option ID :- 1141,
= 2, Option ID :- 1142,
= 3, Option ID :- 1143,

=« 4, Option ID :- 1144,
Answer Given:- 2, Option ID : -1142

Question ID:- 287

Pluripotent stem cell can become all cell types of the embryo except
(1) Inner cell mass

) Trophoblast

) Hematopoietic stem cell

)

(

(
(4

3 12

Embryonic stem cell

Options:-

=1, Option ID :- 1145,
= 2, Option ID :- 1146,
= 3, Option ID :- 1147,

= 4, Option ID :- 1148,
Answer Given:- 1, Option ID : -1145
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Question ID:- 288

Name the cell which receives antigen presented by MHC - II molecule :

(1) Tg-Cells

(2) B-Cells

(3) Tyy-Cells

(4) Macrophages

3 IR 1 19 FaC S MHC-11 379 g1 W& 9fas 9re 3dl 8

(1) T - =@
(2) B - wIferERTd
(3) Ty — hIfempmd
(4)  HehThsl
Options:-

=1, Option ID :- 1149,
= 2, Option ID :- 1150,
= 3, Option ID :- 1151,

= 4, Option ID :- 1152,
Answer Given:- 4, Option ID : -1152

Question ID:- 289

Freafafaa § & =i i i ok 78 €2

(1) drkfEeg ¥ gHieeg = gamn § 912 Tahm g6

(2) UdH mRNA 71 @l T WA A1 T didyie & ffde & 2

(3) WIRTERE H I S ATt M- SrTH! 2gRH1 o faadd, mRNA | 1 fasm wgerE s arge

st & €
(4) TA-HITHE AESTFEET 9l T dellUeEs JEenst Hl Y = 2|
Options:-

=1, Option ID :- 1153,
= 2, Option ID :- 1154,
= 3, Option ID :- 1155,

= 4, Option ID :- 1156,
Answer Given:- 4, Option ID : -1156

Question ID:- 290
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It is designed in such a way that the space at which a sterile medium is introduced into a culture
vessel corresponds to the rate at which the meduim containing microorganisms is removed is :

(1) Fed - batch fermentation
(2) Continous fermentation
(3) Cryostat

(4) Chemostat

=% 70 At ¥ Tesme form e ¥ for fomm ofq @ o aig o & i fa de S tw frm st e sm @
Tt @ & 59 ) geasia e qrean g2 fean s # )

(1) We-99 femam

(2) TR feruer

(3) MR

(4) HHRZ
Options:-

«1, Option ID :- 1157,
= 2, Option ID :- 1158,
= 3, Option ID :- 1159,

= 4, Option ID :- 1160,
Answer Given:- 2, Option ID : -1158

Question ID:- 291

Pick the correct process of Batch Fermentation :

(1) Fermentation sterilised, inoculum added, medium added, fermentation followed to
completion, culture harvested.

(2) Inoculum added, fermentation followed to completion, culture harvested, medium added
fermentor sterilised.

(3) Medium added, fermentor sterilised, inoculum added, fermentation followed to completion,
culture harvested.

(4) Fermentor sterilised, culture harvest, medium added, inoculum added, fermentation followed
to completion.

o= fepoeq =i wel wfsran 94

(1) Tervaw fasifa, sHgpem faemen o, wrerm faeren 7=, fFved qu e[ % 918, Hea & g HT|
(2) e THEr T, fRvar qU Bl o 916, FHea i gee o, Jrea fherran - ferva fHsihd |
(3) HeAY foerren an, fRva fasifd, ggem Siret T, fRvan g 8 F 98, Feer il gEe |
(4) Terua fashiim, shees o1 BT 3, Teay fyamn 72, Sy faemn =, v 90 26 % a9r |

2

Options:-

«1, Option ID :- 1161,
» 2, Option ID :- 1162,
= 3, Option ID :- 1163,
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= 4, Option ID :- 1164,
Answer Given:- 1, Option ID : -1161

Question ID:- 292

Which type of histone modification occurs often on the N-terminus of lysine and arginine amino

acids ?

(1) Acetylation

(2) Phosphorylation

(3) Methylation

(4) Ubiquitylation
Options:-

=1, Option ID :- 1165,
= 2, Option ID :- 1166,
= 3, Option ID :- 1167,

= 4, Option ID :- 1168,
Answer Given:- 4, Option ID : -1168

Question ID:- 293
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Response Sheet

Joe i fafy =1 39 gusa & fagia 9 gafa sifsw)

fafir fgia
(P) faedeA (i) =T MEHR
(Q weglhede (i) STMIfeR TR
(R) HErRERE (iii) seIfeRzF IS
(S) smEA-fafa () fafore &=
(D) P)-@), (Q)-(), (R)-(iv), (5)-(iii)
(2)  (B)-(iv), (Q)-(i), (R)(iii), (S)-(ii)
(3)  (P)-(iid), (Q)-(i), (R)-(3), (S)-(iv)
(4)  (P)-(ii), (Q)~(iid), (R)- (i), (S)-(iv)
Options:-

=1, Option ID :- 1169,
= 2, Option ID :- 1170,
= 3, Option ID :- 1171,

= 4, Option ID :- 1172,
Answer Given:- 1, Option ID : -1169

GET IT ON
Google Play

Question ID:- 294
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Frfafaa = faam wifsm

(P) wErwEd (i) U T=AH S SR 80° UH 110°C F & 2 §

(Q) UfHEIwEA (i) TR % I O STEYHEHA Bl @

(R) TERUHERES (i) O, SYTEIfd & W S € X e FH H 79w 2 B
(5) eifetie TARE (iv) Towm % fou geay doe, W oH 55

(1) (P)(1), (Q-(i), (R)-(iii), (S)-(iv)

(2)  (P)(iv), (Q)-(iii), (R)-(i). (S)-(id)

(3)  (P)-(i), (Q-@v), (R)-(i), (S)-(iii)

4)  (P)-(id), (Q-(i), (R)- (i), (S)-(iv)

Options:-
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=1, Option ID :- 1173,
= 2, Option ID :- 1174,
= 3, Option ID :- 1175,

= 4, Option ID :- 1176,
Answer Given:- 3, Option ID : -1175

Question ID:- 295

Transfection method of recombinant DNA transfer in plants involves delivery of DNA :
(1) With the help of micromanipulator

(2) With the help of bolistics

(3) With the help of needles
(4)

4) With the help of Liposome

Gt # gFHASH DNA 85ia &1 Afada (Transfection) faf 3 DNA &1 faawo wnfie &
(1) WEHRMFAIeRT i Heg 8

(2) Sifeifizsy @it 7eg |

(3) 93 # HEg |

(4) EYEM HI Heg |
Options:-

=1, Option ID :- 1177,
= 2, Option ID :- 1178,
= 3, Option ID :- 1179,

= 4, Option ID :- 1180,
Answer Given:- 1, Option ID : -1177

Question ID:- 296

Hybridoma technology is developed by :
(1) Khorana and Nirenberg

(2) Kohler and Nirenberg

(3) Kohler and Milstein
(4)

4 Khorana and Milstein

Bl drEfien frae g i w1 w g2

(1) TIA 3R et

(2) RS SR e

(3) higeR SR fHoReEA

(4) I AR e
Options:-

=1, Option ID :- 1181,
= 2, Option ID :- 1182,
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= 3, Option ID :- 1183,

= 4, Option ID :- 1184,
Answer Given:- 3, Option ID : -1183

Question ID:- 297

Which of the following evolutionary processes is random ?
(A) Gene Pool

(B) Natural Selection

(C) Genetic drift

(D) Mutation

(

E) Speciation

(1) (A) and (D)

(2) (A), (C) and (D)

(3) (B), (C) and (D)

(4) (B) and (E)
Afeafea § 9 #E-Ot fawrmard wfFn 9w
) S g
) TRiaes =IH
) HAEE FEE

Options:-

=1, Option ID :- 1185,
= 2, Option ID :- 1186,
= 3, Option ID :- 1187,

= 4, Option ID :- 1188,
Answer Given:- 3, Option ID : -1187

Question ID:- 298

Cadherin is :

(1)  Structural component of anchoring - junction

(2) Responsible for attachment of cell extracellular matrix

(3) Transmembrance glycoprotein that mediates cell - cell adhesion
(4) Amphoteric in nature
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Fef

(1) UR-SeRM o HEATHS 5

(2) wE-deer Bfram | gg@ F foru weerd

(3) ZIAHTSH TR S IR STHSH H HEAedl Fidl 8
(4) WA H Iy

Options:-

-1, Option ID :- 1189,

= 2, Option ID :- 1190,

. 3, Option ID :- 1191,

= 4, Option ID :- 1192,
Answer Given:- 3, Option ID : -1191

Question ID:- 299

is a rudimentary organ :
(1) Intestinal villi
(2) Papillae
(3) Vermiform appendix
(4) Epiglottis

TF sreufaefag i 7
(1) il =1 foedt
(2) fve
(3) =HIEH 3UTeEd
(4) et
Options:-

=1, Option ID :- 1193,
= 2, Option ID :- 1194,
= 3, Option ID :- 1195,

= 4, Option ID :- 1196,
Answer Given:- 3, Option ID : -1195

Question ID:- 300
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Options:-

«1, Option ID :- 1197,
= 2, Option ID :- 1198,
« 3, Option ID :- 1199,

= 4, Option ID :- 1200,
Answer Given:- 2, Option ID : -1198

Question ID:- 301

In the Singer & Nicolson Model of the membrane :

(1) Lipid has no specific arrangement.

(2) Protein is arranged in layer.

(3) Lipid and protein are not arranged in any particular order,
(4) Protein is embedded in lipid layer

Options:-

«1, Option ID :- 1201,
= 2, Option ID :- 1202,
= 3, Option ID :- 1203,

= 4, Option ID :- 1204,
Answer Given:- 4, Option ID : -1204

Question ID:- 302
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Options:-

=1, Option ID :- 1205,
= 2, Option ID :- 1206,
« 3, Option ID :- 1207,

= 4, Option ID :- 1208,
Answer Given:- 4, Option ID : -1208

Question ID:- 303

How many DNA molecules are present in the nucleus of human somatic cell in G1 stage of cell

cycle ?
(1y 23
(2) 92
(3) 46
(4) 69
Options:-

=1, Option ID :- 1209,
= 2, Option ID :- 1210,
= 3, Option ID :- 1211,

» 4, Option ID :- 1212,
Answer Given:- 3, Option ID : -1211

Question ID:- 304

Which antibiotic resistance gene inhibits ribosome activity and hence stops translations from

occuring ?

(1) Chloramphenicol
(2) Ampicillin

(3) Tetracycline

(4) Kanamycin
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HHA-HT TSaEifes gfadiy SiF TgaEm i fafafy & Jwa &, S v @ ggeyH (WEH favemm)
TE S UEAIE ?

Options:-

=1, Option ID :- 1213,
= 2, Option ID :- 1214,
« 3, Option ID :- 1215,

= 4, Option ID :- 1216,
Answer Given:- 1, Option ID : -1213

Question ID:- 305

Haplodiploid system

Options:-

=1, Option ID :- 1217,
= 2, Option ID :- 1218,
= 3, Option ID :- 1219,

= 4, Option ID :- 1220,
Answer Given:- 2, Option ID : -1218

Question ID:- 306

Homologous recombination during meiosis is caused by :
(I) Chiasma formation

(2) Independent assortment only

(3) Crossing over alone,
(4)

4) Crossing over and independent assortment.
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S fave % SR e YA feees s g g 2
(1) Terre e
(2) hae Edd R
(3)  3Aehed FHITHT &Y
(4)  SHITET STET A T3 Fh0l
Options:-

=1, Option ID :- 1221,
= 2, Option ID :- 1222,
« 3, Option ID :- 1223,

= 4, Option ID :- 1224,
Answer Given:- 4, Option ID : -1224

Question ID:- 307

Options:-

=1, Option ID :- 1225,
= 2, Option ID :- 1226,
= 3, Option ID :- 1227,

= 4, Option ID :- 1228,
Answer Given:- 1, Option ID : -1225

Question ID:- 308
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=i fagia o1 T W9 famr ¢ Omnis Cellula e Cellula ™' fower g0 wediferd feamam o &2
() T
(2) ESIeW fawE
(3) wered
(4) UM oF sl
Options:-

=1, Option ID :- 1229,
= 2, Option ID :- 1230,
« 3, Option ID :- 1231,

= 4, Option ID :- 1232,
Answer Given:- 1, Option ID : -1229

Question ID:- 309

4
=i feu TU STH o IS A Y AT B
HIARNMVEEGDKHK
(1) 1
(2) 2
(3) 3
(4) 4
Options:-

=1, Option ID :- 1233,
= 2, Option ID :- 1234,
« 3, Option ID :- 1235,

= 4, Option ID :- 1236,
Answer Given:- 1, Option ID : -1233

Question ID:- 310

The “living fossil” refers to a :

(1) Life like fossil well preserved in amber
(2) Retained in same form

(3) Fossil formed from living organism

(4)

Living animal which is about to be fossilized.
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" Sitferd Sfrareg” =1 219

(1) e 59 Seaws #) Ter § o=t o § ufefim 2

(2) T & B9 H FAC @A

(3) Siifee S | s @t Sfamen

(4) Siifad gt e Sawy awm aren §

Options:-

«1, Option ID :- 1237,
= 2, Option ID :- 1238,
« 3, Option ID :- 1239,

= 4, Option ID :- 1240,
Answer Given:- 2, Option ID : -1238

Question ID:- 311

Which is not an antigen presenting cells (APCs) ?
(1) Macrophage

(2) Dendritic cells
(3) T-Cells

(4) B-Cells

Options:-

=1, Option ID :- 1241,
= 2, Option ID :- 1242,
= 3, Option ID :- 1243,

= 4, Option ID :- 1244,
Answer Given:- 4, Option ID : -1244

Question ID:- 312
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Options:-

=1, Option ID :- 1245,
= 2, Option ID :- 1246,
« 3, Option ID :- 1247,
= 4, Option ID :- 1248,

Answer Given:- 3, Option ID :

GET IT ON
Google Play

Response Sheet

-1247

Question ID:- 313

=1, Option ID :- 1249,
= 2, Option ID :- 1250,
= 3, Option ID :- 1251,
= 4, Option ID :- 1252,

https://kvsexam20feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369 2971 460b 9691 98a128654623&Rollno 220424701

Match the following graft in column (A) with column (B)

Column (A) Column (B)
(A) Autograft (i)  Performed between genetically different individuals within a species.
(B) Isograft (ii) Graft between individuals from different species.
(C) Allograft (iti) Performed between genetically identical individuals
(D) Xenograft (iv) Transplant from one body part to another on same individual
(1) (A)-@v), (B)-(i), (O)-(iii), (D)-(ii)
(2 (A)-(), (B)-@1), (O)-(ii1), (D)-(iv)
(3 (Ayv), (B)-(ii), (©)-(i), (D)-(ii)
(4) (A, (B)-(ii), (C)- (), (D)-(iv)
e (A) ¥ FefafEd ae =i wied (B) 9 e
e (A) i (B)
(A) SRR (i) Uk YSTIA o HiaL s s =il o == 1 S ¢
(B) SAEHWTR (i) fafus genfe 3 safai & = oo o s §
(C) TdARTR (iii) AR T | qOH sAfEd & o9 fwma S g
(D) ST (iv) T & =afe o o % Uk feed | o feed o giuwie fen s )
(D (A)-(@), (B)-(1), (O)iii), (D)-()
(2 (A)-(), (B)-(1), (C)-(iii), (D)-(iv)
(3)  (A)-), (B)-(iid), (©O)-@), (D)-(i)
(4 (A)-(), (B)-(iH), (C)- (i), (D)-(iv)
Options:-
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Answer Given:- 3, Option ID : -1251

Question ID:- 314

Options:-

=1, Option ID :- 1253,
= 2, Option ID :- 1254,
= 3, Option ID :- 1255,

= 4, Option ID :- 1256,
Answer Given:- 1, Option ID : -1253

Question ID:- 315

Which one is not an example of oncovirus ?
(I) Begomovirus

(2) Epstein - Barr Virus (EBV)

(3) Papillomaviruses
(4)

4)  Hepatitis B virus

Frfafed § @ -9 SiiweErE i S8R e ¢ 2

(1)  =HEEE

(2) TIREH IR 9RH (EBV)
(3) UfueEmEmEE

(4) eUeEfed . aEE

Options:-

=1, Option ID :- 1257,
= 2, Option ID :- 1258,
= 3, Option ID :- 1259,

= 4, Option ID :- 1260,
Answer Given:- 1, Option ID : -1257

Question ID:- 316
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Options:-

=1, Option ID :- 1261,
= 2, Option ID :- 1262,
= 3, Option ID :- 1263,

= 4, Option ID :- 1264,
Answer Given:- 4, Option ID : -1264

Question ID:- 317

CO, TS 1 AWAR R IY HIERE & Hauq & fou smews CO, =i Higal H @
& ?

(1) 2-5%

(2) 10-15%

(3) 15-20%

(4) 1-10%
Options:-

=1, Option ID :- 1265,
= 2, Option ID :- 1266,
= 3, Option ID :- 1267,

= 4, Option ID :- 1268,
Answer Given:- 2, Option ID : -1266

Question ID:- 318
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Which one of the following arrangements of the permeability of hydrophobic molecule in decreasing
order is correct ? [Gas (G), Uncharged polar (Unp), Charge polar (CP), Non Polar (NP) Ion (I)]

(1) I>G>NP>CP>UnP

(2) Unp>CP>NP>G>1
(3) G>NP>UnP>CP>I
(4) G>1>UnP>CP>NP

24 FH H gESwifEs o] i T & fou frefatea § & - oraeen v € [ (), R-emafum
Y& (UnP), =TS 4814 (CP), TR gam™ (NP), 32 (1) ?

I>G>NP>CP>UnP

UnP>CP>NP>G>1

G>NP> UnP>CP>1

G>1>UnP>CP> NP

— —— —
L5 T s
g e S

4

—
o

Options:-

=1, Option ID :- 1269,
= 2, Option ID :- 1270,
= 3, Option ID :- 1271,

= 4, Option ID :- 1272,
Answer Given:- 4, Option ID : -1272

Question ID:- 319

Options:-

=1, Option ID :- 1273,
= 2, Option ID :- 1274,
= 3, Option ID :- 1275,

= 4, Option ID :- 1276,
Answer Given:- 3, Option ID : -1275
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Question ID:- 320

e 27U 377 o F ford 11 o7l =) Bfetera—sieRt el ST 2
(1) enfSAmEa iR st

(2) WIelEA IR YSTHmE

(3) TomsfE ofr i

(4) TEARREA SR HidET
Options:-

=1, Option ID :- 1277,
= 2, Option ID :- 1278,
= 3, Option ID :- 1279,

= 4, Option ID :- 1280,
Answer Given:- 4, Option ID : -1280

Question ID:- 321

Depending on of the different components of cells, including their organelles, can be
isolated in distinct layers during cell fractionation :

(1) Physical properties like size & weight

(2) Physical properties of the medium like its density
(3)  Electrical properties like their charges

(4) Both (1) and (2)

&+ YR T Fhifveried & fafis e, 39 AtHa gfed, i fausH & SR s/ 31am
el H ek foR ST weRd €
(1) SIERR SR gom g sifaes o

(2) HEEE % i S IHE weE
(3) forep T S R s
(4) (1) 3R (2) SF

Options:-

«1, Option ID :- 1281,
= 2, Option ID :- 1282,
= 3, Option ID :- 1283,

= 4, Option ID :- 1284,
Answer Given:- 4, Option ID : -1284
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Question ID:- 322

Options:-

«1, Option ID :- 1285,
= 2, Option ID :- 1286,
= 3, Option ID :- 1287,

= 4, Option ID :- 1288,
Answer Given:- 2, Option ID : -1286

Question ID:- 323

Second law of thermodynamics states that :
(1) The total energy entropy of a system must increase so that process is to occur spontaneously.

(2) The energy is neither be created nor destroyed, although it can be transformed from one to
another. '

(3) The energy is neither be created nor destroyed, although it can be transformed from one to
another, ie., the total energy of a system, including surrounding, remains constant.

(4) The total energy entropy of a system must decrease so that process is to occur spontaneously.

TSRl o1 §HY e e ©

(1) U= Yoedl =i e s Tordl 9 gfe 8t =ifey, =8 wfthan s =fed 2l €1

(2) STl I A A EA ST TR § SR 7 & TR A 5 wendl § | St 59 Ue gEt H wwiatid feRan s
Hehell 2|

(3) sl el 7 1 S S Hehdl & ST A &) T foran S Hepan, el 38 Us gEl ¥ et fean S gemr
?, A STEIR Higd UH YONel i Hel Sl TeeR Tl 2|

(4) U GUNCH I Fe Sl Gl e =fen, 7w whEan sEy wted 2t g1

Options:-

=1, Option ID :- 1289,
= 2, Option ID :- 1290,
= 3, Option ID :- 1291,
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= 4, Option ID :- 1292,
Answer Given:- 1, Option ID : -1289

Question ID:- 324

Options:-

=1, Option ID :- 1293,
= 2, Option ID :- 1294,
= 3, Option ID :- 1295,

= 4, Option ID :- 1296,
Answer Given:- 1, Option ID : -1293

Question ID:- 325

What are the properties of an ideal DNA marker ?
(1) Low level of polymorphism

(2) Distinct genotypic linkage

(3) Genetic similarities provide adequate resolution
(4)

4 Uniform distribution throughout the whole genome

SEY ELUAT, g F U S ?

(1) =g®Eyd 1 {75 &1

(2) fafem sieEfts fdss

(3) SATERIF TAMT TafH YSHegyH JarH Ht ¢
(4) QL SAE H 9 faaw

Options:-

=1, Option ID :- 1297,
= 2, Option ID :- 1298,
= 3, Option ID :- 1299,

= 4, Option ID :- 1300,
Answer Given:- 1, Option ID : -1297
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Question ID:- 326

Most widely used bybridization based molecular marker :

(1) SNP
(2) AFLP
(3) RFLP
(4) RAPD
Options:-

=1, Option ID :- 1301,
= 2, Option ID :- 1302,
= 3, Option ID :- 1303,

= 4, Option ID :- 1304,
Answer Given:- 4, Option ID : -1304

Question ID:- 327

Options:-

=1, Option ID :- 1305,
= 2, Option ID :- 1306,
« 3, Option ID :- 1307,

= 4, Option ID :- 1308,
Answer Given:- 4, Option ID : -1308

Question ID:- 328
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Human Leukocyte Antigens, or HLA, are :

(1) Alleles involved in resistance to malaria

(2) Components of the ABO blood system

(3) HLA antibodies against HLA antigen that is similar to its own
(4)

4) Type of molecule found on the surface of white blood cells.

e TIhIEEE UISH, 91 T9.Ue.T, g

(1) wHefe & gfaiy § wfie ueied

2)  WELE T YU % UEE

) UE.UE.U UASH % fEeE TE.Uen, eieEiet S 1o o H wuH ©
4)  YoId T RIS 1 Has T Y S At 377 1 YRR

Options:-

=1, Option ID :- 1309,
« 2, Option ID :- 1310,
= 3, Option ID :- 1311,

= 4, Option ID :- 1312,
Answer Given:- 4, Option ID : -1312

Question ID:- 329

Which of the following bacteria is an example of Halophiles ?
(1) Vibrio cholerae

(2) Lacto bacilli

(3) Salmonella
(4)

4) Spirochetes

Options:-

=1, Option ID :- 1313,
= 2, Option ID :- 1314,
= 3, Option ID :- 1315,

= 4, Option ID :- 1316,
Answer Given:- 4, Option ID : -1316

Question ID:- 330
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Options:-

=1, Option ID :- 1317,
= 2, Option ID :- 1318,
= 3, Option ID :- 1319,

= 4, Option ID :- 1320,
Answer Given:- 2, Option ID : -1318

Question ID:- 331
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SAQYTET I e W § 9 UH SHMRed § | et § S 9

O :

1 2

0 o W

) (1)1 U dTgeh &1 =g |

(2) 75% Gure & foR (11)3 deifRferan aresk (Hh) &

(3) (II)3 1 50% Tami = ErAifwiern 8- % wfasmamf @t 1 g € afs 9 T dofei 5o §
HLA &

(4)  25% WAl ¥ R (11)3 =1 Ueel = 9T €0 Afe 9 U ErifRferr gEe 9w it §

Options:-

«1, Option ID :- 1321,
= 2, Option ID :- 1322,
= 3, Option ID :- 1323,

= 4, Option ID :- 1324,
Answer Given:- 1, Option ID : -1321

Question ID:- 332

Which of the following is a molecular modelling database ?

(1) CATH
(2) SARF
(3) FSSP
(4) MMDB

Frefefad # & =iF-a1 soifess qiefen S2eE ¢ 7

(1) CATH
(2) SARF
(3) FSSP
(4 MMDB
Options:-

=1, Option ID :- 1325,
= 2, Option ID :- 1326,
« 3, Option ID :- 1327,

= 4, Option ID :- 1328,
Answer Given:- 4, Option ID : -1328

Question ID:- 333
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What is the maximum number of codons that may encode each of the 20 different types of amino
acids if the genetic code is tetraplet ?

(1) 64
2) 256
(3) 264
(4) 192

HAAT FE 2Zreie B W 20 fafu= uFR #1 S e H ¥ ek %l Thie & all HisT &l
FferRan Hem forat & Fepat 872

(1) 64
(2) 256
(3) 264
(4) 192

Options:-

=1, Option ID :- 1329,
= 2, Option ID :- 1330,
« 3, Option ID :- 1331,

= 4, Option ID :- 1332,
Answer Given:- 2, Option ID : -1330

Question ID:- 334

A cross between a (F1) individual and one of the paternal (P) genotypes is

(1) Testcross

(2) Recessive

(3) Reciprocal cross

(4) Back cross

e (F1) Al IR T Ygak (P) SIHIREY & o= T Fid, 2l
(1) x|

(2) SAgHE]

(3) UREHEF HiE

(4) Sz
Options:-

=1, Option ID :- 1333,
= 2, Option ID :- 1334,
= 3, Option ID :- 1335,

= 4, Option ID :- 1336,
Answer Given:- 4, Option ID : -1336

Question ID:- 335
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Which of these factor is not required in the growth medium for animal culture ?
(1) Carbohydrate

(2) Inorganic salt
(3) Serum
(4) Plasma

Options:-

=1, Option ID :- 1337,
= 2, Option ID :- 1338,
= 3, Option ID :- 1339,

= 4, Option ID :- 1340,
Answer Given:- 4, Option ID : -1340

Question ID:- 336

Which of these methods is not performed in Tansmission Electron microscopy (TEM) to examine

cellular structure ?

(1)  Ultrathin sectioning
(2) Negative staining
(3) Freeze etching

(4) Positive staining

Yoo L1 &1 9 9 % fou grafaye seeei aewredt (dEum.) § w98 § F9-a alis udn
& T Smr g ?
(1)  SeieA JaifHT

(2) FHERHE LS
(3) wrS-EfE
(4)

gehlcHes IIFisH

Options:-

=1, Option ID :- 1341,
» 2, Option ID :- 1342,
= 3, Option ID :- 1343,

= 4, Option ID :- 1344,
Answer Given:- 2, Option ID : -1342

Question ID:- 337
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RNA silencing technology :

(1) Bind genetic material from different species
(2) Combines organelles and cells
(3) Selectively blocks expression of a gene
(4) Alters or transfers RNA
Options:-

=1, Option ID :- 1345,
= 2, Option ID :- 1346,
= 3, Option ID :- 1347,

= 4, Option ID :- 1348,
Answer Given:- 3, Option ID : -1347

Response Sheet

GET IT ON
Google Play

Question ID:- 338

'O' YR % T TE H HaEfa gety dmrl hae faar (B) 3R 97 (A) | ool g I whi SR i HmEe
=1 g1 =nfen, Afg 9ge 'O YR TEd HYE o € ?

(1) 1/4
(2) 1/16
(3) 1/8
(4) 1/2
Options:-

=1, Option ID :- 1349,
= 2, Option ID :- 1350,
= 3, Option ID :- 1351,

= 4, Option ID :- 1352,
Answer Given:- 4, Option ID : -1352

Question ID:- 339
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Which of the following does not constitute a component of the yeast artificial chromosomes ?
(1) Centromere
Cos site

4

(2)
(3) Origin of replication
(4) Telomere

Options:-

=1, Option ID :- 1353,
= 2, Option ID :- 1354,
= 3, Option ID :- 1355,

= 4, Option ID :- 1356,
Answer Given:- 4, Option ID : -1356

Question ID:- 340

A “Flavr Savr” is a genetically modified :

(1) Tomato
(2) Carrot
(3) Brinjal
(4) Rice

Options:-

=1, Option ID :- 1357,
= 2, Option ID :- 1358,
= 3, Option ID :- 1359,

= 4, Option ID :- 1360,
Answer Given:- 1, Option ID : -1357

Question ID:- 341
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Options:-

=1, Option ID :- 1361,
= 2, Option ID :- 1362,
= 3, Option ID :- 1363,

= 4, Option ID :- 1364,
Answer Given:- 1, Option ID : -1361

Question ID:- 342

In a bioreactor, baffles are incorporated to :

(1) Prevent vortex and improve aeration efficiency

(2) Maintain uniform suspension of cells

(3) Minimise the size of air bubbles for greater aeration
(4) Maintain uniform nutrient medium

Options:-

=1, Option ID :- 1365,
= 2, Option ID :- 1366,
= 3, Option ID :- 1367,

= 4, Option ID :- 1368,
Answer Given:- 1, Option ID : -1365

Question ID:- 343
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For] We FHEl H A€ ?
(1) DNA ferirs
(2) Tad zEfmrem
(3) DNA THi@i-1
(4) DNA Tia-1I
Options:-

=1, Option ID :- 1369,
« 2, Option ID :- 1370,
= 3, Option ID :- 1371,

= 4, Option ID :- 1372,
Answer Given:- 1, Option ID : -1369

Question ID:- 344

compares a protein sequences databases with a nucleotide query sequence that has
been translated into all reading frames.

(1) BLASIN
(2) BLASTX
(3) BLASTX
(4) tBLASTN
Options:-

=1, Option ID :- 1373,
= 2, Option ID :- 1374,
= 3, Option ID :- 1375,

= 4, Option ID :- 1376,
Answer Given:- 4, Option ID : -1376

Question ID:- 345
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The DNA microarray technology that tracks deletion and amplification of specific DNA sequence
is called .

(1) DNA variation screening

(2) Gene expression profiling

(3) Microarray comparative genomic hybridization
(4) Antisense

DN A HIShIT dehieh il fafire DNA #1754 o faei o7 yae= &1 oo #d! € 98 FHaadl © |
(1) DNA f¥wrar hifHm

(2) S Y Yrhsfen
(3) TIEHIE ForTeHeh SAIHE Hahol
(4) TIEH

Options:-

«1, Option ID :- 1377,
= 2, Option ID :- 1378,
= 3, Option ID :- 1379,

= 4, Option ID :- 1380,
Answer Given:- 3, Option ID : -1379

Question ID:- 346

Gene therapy was first used clinically on a 4-year-old child fto treat :
(1) Adenosine deficiency

(2) Adenosine deaminase deficiency

(3) Growth deficiency

(4) Adenine deficiency

Teel! SR 1 W o o WS Gl o g 1 gt L o ferg feman T o)
(1) TEAIfHET =i el

(2) TweAIEs SfmfaTg @0 &

(3) Tererms =1

(4) USFH T HH

Options:-

«1, Option ID :- 1381,
= 2, Option ID :- 1382,
« 3, Option ID :- 1383,

= 4, Option ID :- 1384,
Answer Given:- 2, Option ID : -1382

Question ID:- 347
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Response Sheet

Which one of the following is a “Eadie - hofstee” plot showing enzyme Kinetics ?

v
(1)
1
Vo
(2)

—1/Km

[51/Vo ’/
g
(4) Vo r
]

GET IT ON
Google Play
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frafafed § 9 ®F-1 veEy FHde fgan g ' sel-aest’ we g 7

A

V/Is]

1

Vo
(2)

—1/Km =1/[8]
o e ’/
. r
Options:-

=1, Option ID :- 1385,
= 2, Option ID :- 1386,
= 3, Option ID :- 1387,

= 4, Option ID :- 1388,
Answer Given:- 1, Option ID : -1385

Question ID:- 348

Options:-

https://kvsexam20feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369 2971 460b 9691 98a128654623&Rollno 220424701 90/97


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/10/23, 1:07 AM Response Sheet

=1, Option ID :- 1389,
= 2, Option ID :- 1390,
= 3, Option ID :- 1391,

= 4, Option ID :- 1392,
Answer Given:- 4, Option ID : -1392

Question ID:- 349

Which of the following group of amino acids have maximum codons ?
(I) Leucine, Serine, Arginine

(2) Leucine, Serine, Valine

(3) Methionine, Tryptophan

(4) Tryptophan, Leucine, Serine

ST ufae ¥ Fretfafad § ¥ frg w9 § e $eT 82
(1) g, 3, sfsE

(2) TEH, |, Sfer

(3) HfaeETE, et

(4) o<t o, 989

Options:-

=1, Option ID :- 1393,
= 2, Option ID :- 1394,
= 3, Option ID :- 1395,

= 4, Option ID :- 1396,
Answer Given:- 4, Option ID : -1396

Question ID:- 350

Inflammatory activity does not involve in :

(1) Occurred in humoral immune response

(2) Itis described clinically by edema and erythema
(3) Secretion of interferone |

(4) Cytokine production by macrophages

_ Eooried nfafafy § nfoe @ 2
TERE wfaat wiafsean

(1)

(2) ufem sir ufem g fafemes w9
(3) EHIA w1 EE

(4) HehI%ST B HIEEIRT Jeqe
Options:-

=1, Option ID :- 1397,
= 2, Option ID :- 1398,
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= 3, Option ID :- 1399,

= 4, Option ID :- 1400,
Answer Given:- 1, Option ID : -1397

Question ID:- 351

Which of the factor increase the fluidity of membrane ?

(P) High amount of cholesterol

(Q) Trans conformation

(R) Low amount of cholesterol

(5) Cis conformation

(T) High amount of saturated fatty acid
(1) (P), (Q and (T)

(2 (P)and (9

(3) (R), (Q) and (T)

(4)  (R)and (5)

-9 FRF foe i e & 9
) Il i = 9

) 2 HABEHIA

) IR i HH HEI

Options:-

=1, Option ID :- 1401,
= 2, Option ID :- 1402,
= 3, Option ID :- 1403,

= 4, Option ID :- 1404,
Answer Given:- 1, Option ID : -1401

Question ID:- 352

Major site of protein sorting not occurred in :

(1) Golgi complex

(2) Endoplasmic reticulum
(3) Lysosomes

(4) Plasma membrane
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TIEH i BeT ol THE T el e qr1 Sl § 2

(1) TSt IRE

(2) St fegem
(3) ATEHEM

(4) EIHIHSA

2

Options:-

=1, Option ID :- 1405,
= 2, Option ID :- 1406,
« 3, Option ID :- 1407,

= 4, Option ID :- 1408,
Answer Given:- 3, Option ID : -1407

Question ID:- 353

Which of the following features is not present in “lysosomes” ?
(1) Breakdown the micromolecules

(2) Endocytosis activity
(3) Low pH than the cytoplasm
(4) Reduced Hydrolase activity

Options:-

=1, Option ID :- 1409,
= 2, Option ID :- 1410,
= 3, Option ID :- 1411,

= 4, Option ID :- 1412,
Answer Given:- 4, Option ID : -1412

Question ID:- 354
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Match the following enzyme in column (A) with their respective function in column (B).

Column (A) Column (B)
(A) Lipases (i) Transfer phospholipids non specifically in both direction.
(B) Floppases (ii) Flip phospholipid from outer to inner leaflet.
(C) Flippases (iii) Catalyze hydrolysis of triacylglycerols.
(D) Scramblase (iv) Flip phospholipid from inner to outer leaflet.
(1) (A}Q), (B)-(iv), (O)-(i), (D)-(iii)
() (A)(), (B)-(iv), (O-(i), (D)-()
(3)  (A)-(ii), (B)-(ii), (O)(iv), (D)-(1)
(4 (A)-0), (B)-(), (©)- @v), (D)-(iii)

) AEH (i) HERTATed %1 R-fady w1 9 S fewmei 1

) A (i) HERITATE i @Rl ¥ Jiad 75 | fre %
) fms (i) EfOeiested % SEeiary il 3 Hk
) ThEWS  (iv) HERIATS et 8 aed wiwe T gere
(A)-(i), (B)~(iv), (C)-(ii), (D)-(ii)
| (A)(idi), (B)-(iv), (O)-(i )» (D)-(i)
| (A)(), (B)-(id), (O)-(iv), (D)-(i)
(A)-(3), (B)-(ii), (O)- (W) (D)-(iii)

Options:-

=1, Option ID :- 1413,
= 2, Option ID :- 1414,
« 3, Option ID :- 1415,

= 4, Option ID :- 1416,
Answer Given:- 2, Option ID : -1414

Question ID:- 355

Which of the following protein cross the membrane seven times ?
(1) Glycophorin

(2) Rhodopsin

(3) Notch - delta

(4) G -Protein linked receptor
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frefafad 9§ 9 -9 W2 e = 96 o) 91 @ g ?
(1) TergRIwIRA
(2) USieEA
(3) A=-Sed
(4) Si-mEA foge b=
Options:-

=1, Option ID :- 1417,
= 2, Option ID :- 1418,
« 3, Option ID :- 1419,

= 4, Option ID :- 1420,
Answer Given:- 4, Option ID : -1420

Question ID:- 356

The term “alternate splicing” means :

(1) Multiple proteins can be coded by the same gene

(2) Multiple genes can code the same protein

(3) Transcription - level regulation of gene expression is a possibility
(4)

4 DNA ﬁ'agjnents can migrate around inside the genome

Options:-

=1, Option ID :- 1421,
= 2, Option ID :- 1422,
= 3, Option ID :- 1423,

= 4, Option ID :- 1424,
Answer Given:- 1, Option ID : -1421

Question ID:- 357

Which statistical approach of calculating the residues of a single query sequence is used to predict
secondary structure ?

(1) Fold recognition
(2)

(3) Homology based method
(4) Ab - initio based methods

Homology modelling
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Taeftarer weammstl =1 Ufese 3 % fou Ushel Fadl 2T 9RY < 31aM| ! U1 3 o o A1 Jifersn
gfoenTor ST fopan S & 2

(1) Thies T

(2) EmrErS ArefeT
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Options:-

=1, Option ID :- 1425,
= 2, Option ID :- 1426,
» 3, Option ID :- 1427,

= 4, Option ID :- 1428,
Answer Given:- 3, Option ID : -1427

Question ID:- 358

CATH

Options:-

=1, Option ID :- 1429,
= 2, Option ID :- 1430,
= 3, Option ID :- 1431,

= 4, Option ID :- 1432,
Answer Given:- 1, Option ID : -1429

Question ID:- 359
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3/10/23, 1:07 AM Response Sheet
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(4) F (ab), ZTHS 3TN W vfeh YR THe
Options:-

=1, Option ID :- 1433,
= 2, Option ID :- 1434,
« 3, Option ID :- 1435,

= 4, Option ID :- 1436,
Answer Given:- 3, Option ID : -1435

Question ID:- 360

Percentage of anitbodies in serum with decreasing order :
(1) IgA>IgG>IgM >IgE > IgD
(2) 1IgG>IgA >IgM >IgD > IgE
(3) IgA>IgD > IgM >IgE > IgG
(4) IgM>IgE>IgG >IgD > IgA

Options:-

=1, Option ID :- 1437,
= 2, Option ID :- 1438,
= 3, Option ID :- 1439,

= 4, Option ID :- 1440,
Answer Given:- 1, Option ID : -1437
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Qno Question Description

key

001 General English

002 General English

003 General English

004 General English

005 General English

006 General English

007 General English

008 General English

009 General English

010 General English

011 General Hindi

012 General Hindi

013 General Hindi

014 General Hindi

015 General Hindi

016 General Hindi

017 General Hindi

018 General Hindi

019 General Hindi

020 General Hindi

021 General Awareness& Current Affairs
022 General Awareness& Current Affairs
023 General Awareness& Current Affairs
024 General Awareness& Current Affairs
025 General Awareness& Current Affairs
026 General Awareness& Current Affairs
027 General Awareness& Current Affairs
028 General Awareness& Current Affairs
029 General Awareness& Current Affairs
030 General Awareness& Current Affairs
031 Reasoning Ability

032 Reasoning Ability

033 Reasoning Ability

034 Reasoning Ability

035 Reasoning Ability

036 Computer Literacy

037 Computer Literacy

038 Computer Literacy

039 Computer Literacy

040 Computer Literacy

041 Understanding the Learner

042 Understanding the Learner

043 Understanding the Learner

044 Understanding the Learner

045 Understanding the Learner

046 Understanding the Learner

047 Understanding the Learner

048 Understanding the Learner

049 Understanding the Learner

050 Understanding the Learner

051 Understanding the Learner
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052 Understanding the Learner

053 Understanding the Learner

054 Understanding the Learner

055 Understanding the Learner

056 Understanding Teaching Learning
057 Understanding Teaching Learning
058 Understanding Teaching Learning
059 Understanding Teaching Learning
060 Understanding Teaching Learning
061 Understanding Teaching Learning
062 Understanding Teaching Learning
063 Understanding Teaching Learning
064 Understanding Teaching Learning
065 Understanding Teaching Learning
066 Understanding Teaching Learning
067 Understanding Teaching Learning
068 Understanding Teaching Learning
069 Understanding Teaching Learning
070 Understanding Teaching Learning

071 Creating Conducive Learning Env. Etc.
072 Creating Conducive Learing Env. Etc.
073 Creating Conducive Learning Env. Etc.
074 Creating Conducive Learing Env. Etc.
075 Creating Conducive Learning Env. Etc.
076 Creating Conducive Learning Env. Etc.
077 Creating Conducive Learning Env. Etc.
078 Creating Conducive Learning Env. Etc.
079 Creating Conducive Learning Env. Etc.
080 Creating Conducive Learning Env. Etc.

081 BIOLOGY
082 BIOLOGY
083 BIOLOGY
084 BIOLOGY
085 BIOLOGY
086 BIOLOGY
087 BIOLOGY
088 BIOLOGY
089 BIOLOGY
090 BIOLOGY
091 BIOLOGY
092 BIOLOGY
093 BIOLOGY
094 BIOLOGY
095 BIOLOGY
096 BIOLOGY
097 BIOLOGY
098 BIOLOGY
099 BIOLOGY
100 BIOLOGY
101 BIOLOGY
102 BIOLOGY
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103 BIOLOGY
104 BIOLOGY
105 BIOLOGY
106 BIOLOGY
107 BIOLOGY
108 BIOLOGY
109 BIOLOGY
110 BIOLOGY
111 BIOLOGY
112 BIOLOGY
113 BIOLOGY
114 BIOLOGY
115 BIOLOGY
116 BIOLOGY
117 BIOLOGY
118 BIOLOGY
119 BIOLOGY
120 BIOLOGY
121 BIOLOGY
122 BIOLOGY
123 BIOLOGY
124 BIOLOGY
125 BIOLOGY
126 BIOLOGY
127 BIOLOGY
128 BIOLOGY
129 BIOLOGY
130 BIOLOGY
131 BIOLOGY
132 BIOLOGY
133 BIOLOGY
134 BIOLOGY
135 BIOLOGY
136 BIOLOGY
137 BIOLOGY
138 BIOLOGY
139 BIOLOGY
140 BIOLOGY
141 BIOLOGY
142 BIOLOGY
143 BIOLOGY
144 BIOLOGY
145 BIOLOGY
146 BIOLOGY
147 BIOLOGY
148 BIOLOGY
149 BIOLOGY
150 BIOLOGY
151 BIOLOGY
152 BIOLOGY
153 BIOLOGY
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154 BIOLOGY 105 BIO TECHNOLOGY 156 BIO TECHNOLOGY 4
155 BIOLOGY 106 BIO TECHNOLOGY 157 BIO TECHNOLOGY 3
156 BIOLOGY 107 BIO TECHNOLOGY 158 BIO TECHNOLOGY 2
157 BIOLOGY 108 BIO TECHNOLOGY 159 BIO TECHNOLOGY 2
158 BIOLOGY 109 BIO TECHNOLOGY 160 BIO TECHNOLOGY 1
159 BIOLOGY 110 BIO TECHNOLOGY 161 BIO TECHNOLOGY 1
160 BIOLOGY 111 BIO TECHNOLOGY 162 BIO TECHNOLOGY 1
161 BIOLOGY 112 BIO TECHNOLOGY 163 BIO TECHNOLOGY 3
162 BIOLOGY 113 BIO TECHNOLOGY 164 BIO TECHNOLOGY 3
163 BIOLOGY 114 BIO TECHNOLOGY 165 BIO TECHNOLOGY 4
164 BIOLOGY 115 BIO TECHNOLOGY 166 BIO TECHNOLOGY 2
165 BIOLOGY 116 BIO TECHNOLOGY 167 BIO TECHNOLOGY 1
166 BIOLOGY 117 BIO TECHNOLOGY 168 BIO TECHNOLOGY 2
167 BIOLOGY 118 BIO TECHNOLOGY 169 BIO TECHNOLOGY 1
168 BIOLOGY 119 BIO TECHNOLOGY 170 BIO TECHNOLOGY 3
169 BIOLOGY 120 BIO TECHNOLOGY 171 BIO TECHNOLOGY 4
170 BIOLOGY 121 BIO TECHNOLOGY 172 BIO TECHNOLOGY 3
171 BIOLOGY 122 BIO TECHNOLOGY 173 BIO TECHNOLOGY 1
172 BIOLOGY 123 BIO TECHNOLOGY 174 BIO TECHNOLOGY 2
173 BIOLOGY 124 BIO TECHNOLOGY 175 BIO TECHNOLOGY 4
174 BIOLOGY 125 BIO TECHNOLOGY 176 BIO TECHNOLOGY 1
175 BIOLOGY 126 BIO TECHNOLOGY 177 BIO TECHNOLOGY 4
176 BIOLOGY 127 BIO TECHNOLOGY 178 BIO TECHNOLOGY 1
177 BIOLOGY 128 BIO TECHNOLOGY 179 BIO TECHNOLOGY 4
178 BIOLOGY 129 BIO TECHNOLOGY 180 BIO TECHNOLOGY 2
179 BIOLOGY 130 BIO TECHNOLOGY

180 BIOLOGY 131 BIO TECHNOLOGY

081 BIO TECHNOLOGY
082 BIO TECHNOLOGY
083 BIO TECHNOLOGY
084 BIO TECHNOLOGY
085 BIO TECHNOLOGY
086 BIO TECHNOLOGY
087 BIO TECHNOLOGY
088 BIO TECHNOLOGY
089 BIO TECHNOLOGY
090 BIO TECHNOLOGY
091 BIO TECHNOLOGY
092 BIO TECHNOLOGY
093 BIO TECHNOLOGY
094 BIO TECHNOLOGY
095 BIO TECHNOLOGY
096 BIO TECHNOLOGY
097 BIO TECHNOLOGY
098 BIO TECHNOLOGY
099 BIO TECHNOLOGY
100 BIO TECHNOLOGY
101 BIO TECHNOLOGY
102 BIO TECHNOLOGY
103 BIO TECHNOLOGY
104 BIO TECHNOLOGY

132 BIO TECHNOLOGY
133 BIO TECHNOLOGY
134 BIO TECHNOLOGY
135 BIO TECHNOLOGY
136 BIO TECHNOLOGY
137 BIO TECHNOLOGY
138 BIO TECHNOLOGY
139 BIO TECHNOLOGY
140 BIO TECHNOLOGY
141 BIO TECHNOLOGY
142 BIO TECHNOLOGY
143 BIO TECHNOLOGY
144 BIO TECHNOLOGY
145 BIO TECHNOLOGY
146 BIO TECHNOLOGY
147 BIO TECHNOLOGY
148 BIO TECHNOLOGY
149 BIO TECHNOLOGY
150 BIO TECHNOLOGY
151 BIO TECHNOLOGY
152 BIO TECHNOLOGY
153 BIO TECHNOLOGY
154 BIO TECHNOLOGY
155 BIO TECHNOLOGY
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